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(1)

(1i1)

(iv)

(v)

(01)

PART-A /591

Define involuntary unemployment. ; il

ARG (ST RG] (IR

What is effective demand ? i 1

e vzl <12

What do you understand by depreciation of capital ? i

EER TR 00 [ 2

GNP = GDP - : j (Fill in the blank)

. s
GNP'=GDP - il (o e )
What is foreign exchange market ? ) 1

s [&fasg e FN?

Which of the following transactions are included in the current

account of Balance of Payment ? 1

NG e o 5! 'WF'/—“ 2] ¢
AR o bfers i Wy MRFS (I Ryl suee =

(1) Import and Export of goods

GEIE S aqe gei

(b) Import and Export of services °
CRE ST aaR i

32T ECON (BENG) [2]

(¢) Unilateral transfer

ETARR T

(d) All of the above
Tt FRaf

~ (Choose the correct option)

(¢% Tedlb ez 13)

)

Write the differences between GDP at market price and GDP at factor cost.

2

<IE 7 GDP €. S&oAwe I GDP-4= S04y #1195 el |
OR /@2

Write one similarity and one difference between Intermediate goods and

capital goods.

1+1=2
ST T R YA T T G0 AT R G ey
3. What do you understand by ‘Paradox of Thrift’ ? 2
TR A FeRer [y 6 @i
32T ECON (BENG) (8] Contd,
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OR /1241 VAT
What is aggregate supply ? Explain. 2
FNET @PN ©12 IR @R
4. Write fwo differences between direct tax and i11di1fect__tax. 2
AR TF G AARE TER e 716 AL @i |
5. What are the components of high—powered money ? 2
THENOA I T CoTg ) 2
OR /<1241
Tl

Define Bank Rate and Cash Reserve Ratio.

TF A IR T AT Sysiiced A T

6. Write two differences between Balance of Payment and Balance of Trade.

2

ARTAA TS =k ey e W 76 A sl

7 Write in brief the ideas of fixed exchange rate and flexible exchange rate.
2

o R W R SR B 2 Qe 4 e e |

32T ECON (BENG) i AT

What is investment multiplier ? If a new investment of Rs. 300 crore
increases National Income 'by Rs. 1200 crore, calculate the value of

investment multiplier. In this case, what. will be the value of MPC ?

1+1+2=4

RN wa e 7 300 @i S Tow Ko e wim 1200 & 50

s 3@, ©izE KA s SN sl & | GEsE, MPC-as i <5 2017

- OR/%241

Briefly discuss the components of aggregate demand. 4

AT BIRAIR CAMTATL, AT SCval S |

Write differences between the following concepts : (any two) 2+2=4
e ararRe st iy @Rl 8 (@ @ 7ib)
(i)  Autonomous investment and Induced investment.

wor R «re wiferee R |

(ii) Ex-ante consumption and Ex-post consumption.

2GS Torela @3 e Tsite |

32T ECON (BENG) [5] Contd.
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(iiif Marginal propensity to consume and Marginal propensity to save. ~0 OR/%8<1

Define, the following : _ : 1+1+1+1=4
e ToTS 2990 GRR iET ey 2=eol |

FeReelE Fitel @l 8

(fv) Marginal propensity to consume and Average propensity to consume. (i)  Fiscal Déficit
Bl RIERAIGS

Zifes Tocen 2l Ukt T Terele 2999 |

(i) Primary Deficit .

‘ RIBERIITIC
10. Discuss four main functions of Central Bank. 4
| (i) Planned government expenditure
(SERd <ACES I E?” F @mm (4] | 9“%6%@ W% m
e (iv) Non-planned government expenditure.
AR ] Th |
Explain how commercial banks create credit, _ 4 :
. : 12. Explain how GDP is calculated using Income method. 6
<ifdfErs = S w4 F5° @ Ry FE . SR ISR AR Seid GDP 919 =1 27, =T 6 |
OR /<1341
11. Discuss the components of Government Budget. !

Discuss the reasons why GDP can’t be used as an index of country’s welfare.

6
saesia] Ao E\E'/imﬂ‘ﬁ?{i TCHIB e |

GDP (F (0@ Feieed b IRLE [0S ) #1ig FIRIAAZ S |

32T ECON (BENG) | [6] 30T ECON (BENG) (7] R
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PART-B / 4-512%

13. (i) Define sustainable development. , 1

T SRAGE KR e |

(i) During British rule, decay of Indian handicrafts was caused by —
1

&0 =iva=ice ©iaces sBiEe e TR &Em —

(1) Discriminatory tariff policy of the British Government

Rt e Rreres 93 Si©

(b) Competition from machine-made products.

[ LNy

FZ- A w7y ARl Tgo Al

(¢) Change in patterns of demand

[ =
Gilerid 0 ARTO

(d) All of the above

(Choose the correct option)
(%% TEEt @z 918)

(iii) In which year the NITI Aayog was formed ? 1

% (NITI) SCst (o A 510 31 R(afRet?

52T ECON (BENG) [8]

-

(iv) What is the difference between ‘Labour Force’ and ‘“Work Force’ ?

1
‘wife g e sy g S

(v) Mention one similarity of the economic policies adop-ted by India and

Pakistan. : ‘ 1

SRS 4R AR 2§ T SF Tiox G5 sy Tk FE |

(vi) The ‘Great Leap Forward’ campaign in China focused on —

1

SR FCR 328 ot (Great Leap Forward)’ SifSAIe 127 &% &) —

(a)  Privatisation

JfEsiesas

(b) Widespread industrialisation

PERE < SomeT e AR

(¢) Development of services sector

R re T

(d) Economic reform

T AL
(Choose the correct option)

(2% CeFh ([T 7€)

32T ECON (BENG) [9] Contd.
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14.

32T ECON (BENG)

Mention fwo major industrial sector reforms in the Indian economy under G}

the policy of liberalisation. 2

) o Mg 0 it
TR IS SEE SRS SN M (R 420 T9 76 $FRsq WK

T TG |
OR /<1

Write about two positive effects of LPG policies in the Indian economy.

2
SiS i SIOTS LPG Fifed 75 (1% iR MA@l |
117
Write two merits of GST. ! 2

GST-97 76 7R{e4 edi|
OR /<131

What is demonetisation ? Mention one positive effect of demonetisation in

the Indian economy. b

Remicae 17 SIS wefifore famiarer a0 AN LR TEd SE |

[10]

32T ECON (BENG)

What is structural composition of an economy ? As on 2021, which sector

contributed highest to the GDP of India ? 1+1=2

SLRIET TS 5757 1 2 2021 el SIFre GDP= & & (5458 S/7ie

T4 2
OR /21

- Write two characteristics of small-scale industries. 2

T4 M 76 @Y @]

Write fwo differences between economic infrastructure and social

infrastructure. 2

o ARTIIC ¥R AN ARFINET T2y 76 ALy @GR |
OR /131

Write about two problems faced by the power sector in India. 2

SRS @feT CR(ad 7o Fmi [EE @Al

] Contd.
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18.

A i [ .
Write any two measures undertaken by the Government of India to

improve agricultural marketing. 3 2

IR MG T2 CHICEE G SRS THIE B RS (F (PG 75 A E |
OR /31

What do you understand by diversification of agriculture ? D

TR @b Tmce S @R

T e the three main_approaches undertaken by vaer11m011t of India
to alleviate poverty ? 7 2
RES] TR T SiRs FERE il 2 oA Tmie 1 e

OR /%1341
Write a short note on MGNREGA. :
MGNREGA-¢3 i «=f6 sfee Tl coeall |
32T ECON (BENG) [12]

201

Discuss the goals of planning in India. 4

SRS ARTHENT SO SNCETba] S |
Sl OR /<1337

Briefly discuss two positive and fwo negative impacts of Green Revolution.

2+2=4

TR Relta 76 & e G 76 AN ASR T AL SIEib <l |

Write a comparative note on the demographic indicators for India, China

and I—:’akistan. 4

TR -REEE ﬁ'CW/‘Rﬁ-q‘* A=A fofere SiFs, 5N @2 “AiTEieE 9Th OISR

Bl eee 0 |
OR /<14
(1)  Write fwo reasons for rapid economic development in China. 2

SItAE @® wiefaies R 7o 99 @l |

32T ECON (BENG) [ 131 Conld.
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(1) Write fwo reasons for slow economic growth in Pakistan. 2
AR T2 Ao Tafeg 76 T4 @il |
22. Write about different types of unemployment. 4
@Rees [ien @Ay @@ @l
23. Is economic growth, a cause of envii'onmental degradation ? Justify your
answer. - L 4
SIftAles CaEs <1 AR a5 2eim 9T SR ? (S CEEd HE I me |
OR /<7121
(i)  Write two causes of global warming. . 2
R SeEew 76 FiRe @i |
(i) Suggest fwo measures for attaining sustainable development in India.
2
e — A
CIReATE qay Cade aifeld T 7ib o Wi |
32T ECON (BENG) [14]

24,

What is organic farming ? Discuss its merits and demerits. 1+5

Il
N

CalRe R T2 97 AR IR SRR S0 6|

OR /194

What is Human Capital ? Discuss the sources of human capital formation.

i@5=0

N T T2 AT AEGH T ST SCEAbe] S|

32T ECON (BENG) | [15]



